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Direction (Question
that lollows : Ne.1 to 5): Reag ), pa

“Not all agriculy
ira
rﬁraugh_ the stage of agricyj “OMe civilizations, hu no civilization can become one gt o
Brodciiviy Rprei G fure. This is because at some ‘,; 3 e in the development of agriculture, as
ail people would need to be ("ngj'#‘ld in producing or procuring food. A

significant numpe,
0
cnsnents 1 £ People op ivities such as building walls or

creating new qrgigg;. m “INE new 1p0ls, weapons and jewellery; organizing long-distance trade;

constructing new publi dsterpieces; coming up with new inyentions; keeping accounts; and perhaps

of agriculture, thus r :f frastructure sych g5 irrigation canals that further improve the » productivily

This can happen o calizing even more peaple 1o do new things. !

at some stage i e = :::::*'S?. only if a Society that has transitioned to high productivity agriculture has also,

the anciens world, thi mm"a_.fmmd a way to channel the bonanza of free time info other work fruitfully. In
 1is often involved creating new ideologies and mew hierarchies or power structires 10

E€rwise convince large groups of people to devote their time o the new tasks for very

ssage and angwgr the four choices given afier cach question

{ Societiey Eo

coerce or oth

h'l’ﬂ'e reward.

1= ienifie 2
A significant number of peaple were sent to carry out other work from agriculturébecause :

(A) there were insufficient agricultural products.
(B) people were needed to build monuments, weapons, jewellery, et¢.
there were sufficient agricultural products.
dD) this cnabled the development of civilizations.

2. Whljlj_ one of the following statements is true according to the author ?
A) Agriculture has always been part of all civilizations,
(B) Not all civilizations have undergone the processes of agriculture.
(C) Agriculture gave birth to new civilizations.
(D) Communities discontinued agriculture to become givilizations.
g
3 Which word in the passage means ‘changeover” 7
passag 2
Ay Transitioned
(B) Channel
(C) Coerce
(D) Hierarchies
4. People as groups were convinged to do new wprk through :
(A) reward. force and community, persiasions.
(B) ideologies. hierarchiegand power structures.

) excessive agricultral products.
(D) very high rewards. ‘
5. What kind of agriculture bas_?d soci
( Sociéties whichachieved h
for other work
(B) Societies, whic e
ipNE D I i age of agriculture to another.

(©) Societ]:cs Wh!Ch tranf;ﬁefuf;szﬁ Fur lackglc-:f resources moved to other worl».:.

Soclice ik Choose the alternative which best meaning of the

eties would emerge as civilizations? : e
igh productivity i agriculture had the opportunity to find ume

h depended on agriculture completely moved to other fruitful work so as o

Dkwt:ﬂs . In this question, four alternatives are given:
. took C : I
g < s Cue from her brother and bevame successfu
The S8 |
¢ Mn:ome help
~(B) a hint

some money
E%; learnt acting
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Gﬁﬁ?ﬁ?ﬂfé@??ﬁqﬁwﬁaﬁ?ﬁrkﬁm--.m; I s @

16. U= wWifke &t wiavf @ @ -
(A) WEl @fth W fawg T8 5
g : 7 e
@) 9 3% S T ) ot 8 e
(© et R v e
D) R AR B B W vy g e wn
17. riecg & @47 " T4 § 7 :
(A)  @fen am 3R auEn
(B) g F HEE TR
(O &3 Fuwn @R 7e TS
(D) oY aUvT AR HfoA TR
18. &) ¥ fw Ren & grgve &g B 7
(A) RN @
B)  AonRd HeRT @)
(C) TPl B

©y" T DR T

19, farg 29 § ey Rres @ wRUE, TEIE 2
qReay #

® S

&) T

(D) R |
20. ﬁﬁﬁmqm@ag?

(A) SreTgd 9

© IETEN
21. W’WWW%?

Jpr RTE

(B) g

© A

(D) HHT
Mn 12023 [Page- 3]
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© frer
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25. dms @ T
AK) S
(8) gAYl
(C) ¥ER
(D) %I
2% ‘SwEE IE B A § drH-ur uead LR R Y
a 2 \
(8) 9
(c @
NS0 ) B )
27.  ‘Byger # S-G9 € 7
(A) OHYRT
(B) ¥gdmE
(© #u
Wy fag
28, SAMRI I B
(Ao A
(B) T
[ faev
Py W

29. foa Ay § ueE BN g 7
/%1 Y A I AR Y AR

e ¥ 3@ wel e
«ﬁr %ﬂm%ﬁmﬁwﬁmgl
@) T A % @y
30 ‘EH E War g g 2
(A) Vo '
(B) TFm
E) I
(D) wfceid
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Directions (Question Nos 31 to 35

Select the related |e
ted letter! _ :
given alternatives - er/word/num s, Ao "Uia ﬁﬁﬂ (e '110-“31 9 32:1
MR feg g Rl H A W SR/ e /T &
: PE:\_U\ 15 coded as HVO, Find the o s T HIRAT
) codefor 1) R GUNBIHVO® &1 Fifed Frama
e hh % 3 (mew) PEN & for 7 ?
(B) CDp dt (@e) PE S 94
(D) NOT ‘{ o BST
32. (1) Scissors : Cloth :: ? (D) NOT
(A) Axe : Wood 2. (1) & - FuE oW
(B)  Stone : Grinder (A) TR
f'L-‘! Kaife : Stone (B) TR T
() Sickle ; Brick (C) . T - TER
] i
33 Arrange the words given below in a 1 %}; S :ie X i
meaningful scquence : : “KQ" fen A =l & Hﬂh[“f A W ae
1. Family COlEINE
2. Community 1. qiRaN
3. Member 2. e
4. Locality 3, TEH
5. Country e
(A)  3,1,245 ]
’ 5 <
{(B) 3.1,.2.54 i
‘/{-CJ 31425 (A) 3.1,2,4.5
3,1,4,2,0 3
P (B) 51’2’54
s &) 3.0.425
(D) 3,1,4,5

34.

Anil walks a distance of 03 km. towards
north, then turns 10 his left and walks 02 km.
He again turns left and walks of 03 km. AL
(o his left and walks for

this point he tums
kilometres is he from the

03 km. How many
starting point ?

82
14, g IR @ AR 03 Rodo T & AR
T & 3w o2 frodlo e B
7 fi & a g 3R o3 Reodo =
3 30 Ry 78 A T R e § 8N

(A) 01 km.
(B) 02 km.
(C) 03 km.
(D) 04 k.

(Series-D]

03 S0 wewn &) 78 S fig R R
frodio @ #7

y o1 fodo

@) 02 oo

© 03 oo

0y o4 fForiio
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{D} I l—lfiﬂﬂs'cs 7
34 Find thg
oy - 12
(B) 14
o
(D) 13

i ich is the
7 Outofthe given answer figures, \;hnlt; s the
& correct one 10 replace the empty box !
Question Figures :

U

(A) A
B C
(© B
i

38. Look at this series ;
07, 10, 08, L1909, 12, . . &
What number should come next ?

A 0
B) 10
% 12
D 13

39 A man walking towards east takes a 270°

clockwise turn and starts walking. In which

direction is he walkin now ?
(A)  South ;

B)  West

(C©)  East

D) Nomp

15,

6.

AT

38.

39.

et ) WA gra Wiy ?

—

40,

(A) 13
(B) 15
('-.} IG 41.
(D) 14 v
Pt @ e g A ?

Rir
(A) 12 e
(B) 14 iz
o i p
(D) 13 i

< ThawHRE § B, vearTs fae 3
YA W= Frgh w9 2 ?

Question Figures

Claig] |

Answer Figurcs .

Qlajafal

(A) (B) (&) D)

LA
[B)e O
€
(D) D
79 N Bl <

07, 10,08, 11,09, 12, . ...
A PG dEm I wifEy ?

(A) 07

B) 10

T8, PR IR 1o,

(D) 13

v@ @t g7d B AR Te gy ud @ e
¥ g70 N Fear ® AR TN AR I
Y Rmiga e ?

(A) SR

®) ufEm

(€ T

p) TR

[CET-BED : 2023]
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40. In a row of 40 stude
the right of Saurabh, w
right end. Then find th
the left end ?

nts, Shculn is 5§t
h“ is 18
2 rnnk of

1-I'E1r||
from the
Sheeln from

(A) 30
(B) 29
© 26

<Dy 28

41. Three _of the following four |
are alike in a certain W, euer:clusters

diffcrent. Scicet the odd on 1y and ope g

(A)  IMSU 2
(B) IMPV
~«€) YTSR
(D)  AEKM
2 uestion Nos.42 to 43

Read the given information and apgye, fis
que_stinns asked by choosing the most appropriate
option ;
42, Identify the reasoning in the following
argument :
“A person withoul a goal is like a computer
withourt a program,”

(A) lypothetical
(B) Deductive
(C) Inductive
(D) Analogical

43.  Given below are two statements :
Statement-T : To obvert a proposition, we
change its quality and replace the predicate
term with its complement,

Statement-IT : Obversion is valid for any
standard form categorical proposition.

In light of the above stalement, choose the
correct answer from the option givenbelow:

(A) Both statement I and statement Il
are true

(B) Both statement L.and statement 11
arc false

(8] Statement I is truc but statement 11
is false

(D) Statement I is false but statement IT
is true

44.  Which of the following is correct 7

U
A A is subset of B
EB)) B is subset of A
(C) U is subset of A and B
(D) U is subset of A
[Series-D]

40,

41,

43.

e o~ r: 16 | 2
W[oooe| [W|0Ee0| |* oz
Aol 1 ol WeeU | ay '.
VBP0 | SECE e | & phgi i
008 | |18 o, @O Iy
| 4 | .' = 70 ﬂ.—I t | .
) 45 | (ANE 1 "
i 2GRN @]
| | 6| BOO 71 U )
o4 | @ g : 72 '.'E"Q'@',' ]1?2
.| (O
& 56“ Al
B

e 7@ § T PN aE B

ey ey 1T e, (AT WO PR

S I

) IS

(B)

(C) o IW

(D) ]

A2 e R T E

-l ;[ qEAE P 9w @ ol §
Sed T B ween € o R O
v e 9 ARy e E

-1 : oy R A A W A
| & fog A 2

TR s & se § A Ry Y
et # W W IR B TIH DY :

(A) 1IN T 1R €

(B) mmﬂhmna‘m‘fw%
(©  FOFIL Y ¥ AP HI I
(D) U1 T & Qe B 11T 8

frfeia # ¥ P T 8 2

AA)
(B)
(€)
(D)

g TRy
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45.  Look at this series : 45.
U32, V29, , X23, Y20, ieirs
What number should {ill the blank 7
{A) W26
(B) W17
B oS
(M 726
46. A person writes all the nuinbers from 010 99, 46.
The number of times digit 3. will b€ Written
is:
(A) 18
.AB) 19
(8] 20
(D) 21

47.  Arrange the

following words in g 47.

meaningful sequence :
1. Bill

g s @ &l

; %23, Y20, .10
U3z, V28, = §
P11 e e @ a7
(A) W26
(B) wi7
© 217
(D) 226 G, * -
'Walﬁ'muﬁggﬂ?ﬁ“ﬁ“‘“ “@]'q?@ﬁ
%laims,ﬂﬁwmm g
(A) 18
(B 19
© 20
(D) 21

e T Ry A ¥ A
G :

2. Treatment L fae
3. Doctor 2. IqEN
4. Diagnosis 3. By
5. Patient 4. ﬁg—q
SIAP e S _
(B) b2 354, S S.Q‘E'ﬁ 1
© 321,45 :g; e
& 2.4
M) 25314 L
(D) 2,53, 1,4
48. A book always has : 48, UF [P ¥ E R
U(J\') Pages (A) Pis)
) Sy @B) g
(C) Binding P
(D)  Content © R
o) el
49. Find the median of the given set of numbers: 49. o3 M vemst % e &1 Aas = ﬁm
2,6,6,8.4.2,7.9 2,6,6,8,4,2,7,9
(A) 6 (A) 6 '
B 8 ®) cas
e A © 4
o 5 D 5
50.  Find the sum of all numbers divisibleby 6in  50. 100 ¥ 400 & 414 ¥ 6} Rvrow Tt Tl
between 100 to 400 : F1 A T P
A) 12,550 @) %,5% °
(B) 12,450 ®) 12450
(© 11,450 © 11,450
(D) 11,550 (D) 11,550
[Series-D] [CET-BED : 2023]
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52, Findthe

4

(A)

(9]
v}

53.




51. It a 30 m ladder i
- er is placed
:::]L; !-:;h that it just f“-ﬂuhe:g!m“ 515 o e
o , thea the clevation of g, the top of the n @S sl
;A" c wall is equal S & T g8 TR T
3
A i
2
© & :
D my ¥
) se° : 30°
kB\ il
52.  Fi e \: B
. Find the r::s‘smg numbers : ‘ln] 50°
- 8
3 2 < I B
. T T W
®@: "QOr @ . A
s : o} :
b 30 * }
A S0 2 Ci‘ 9®2
B} 5 2 ; .
©) o (a
(D) 48 l[?‘ :!
53. Insert th <cal signs i D a8
S c:j mfmcncal signs in the followng 53 o
ericals figure : §821 = 14 =
(A) . ST ¢ 8821 =
(B) — I\I : 3821 =14
N o
B h- Y o
D +
54 I 84 13=8 ;] (D) =
37 % 13=6 S4.  ZRE Foag 13=8
26"11:6 37’*13=£‘
then s6x22=1 26 x 11=6
© 07 ® 39
@ 1 oy
(D} ii
55. Directions: Identify the possible argument: 55, 9 @ % &) T W
Statement - Shou_ﬁ students study 10 carly
hours of moring ‘)

Arg.l: Yes, mindis,freéh and alert at that

ume.
Arg_z . No‘ eafly risers feﬁi S‘eﬂp}'
throughout the day.

Only Arg 1 is strong
() Only At® 2 is strong
(©) Both the ts are STO0E
(D) Neither 1 not 2 is strong

onfe ST FIME I

y

@
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s a @ fam @ Sud




58.

59.

6l.

62,

3

ECTION-IV
(@vs.1v)
AWARENESS

AL ANARENLss

s6.  Prefafm gy prevppm 1 FERe 5

cal order
s in rhl\""'m i
following ¢ a\lBhu'“

ange the
56 Arrang soviet invasion ¢ il .
: ;nll ol the Iivrhlj v g So\‘i"' Union

] soft

Disintegratio!

o Russtan R(‘\"Ullllluﬂ
v , AR
{A) i, il @i, ¥
{B) i, i, iv, i
(C) iv, i, 1.1
(D) iv, i 01, 1

jra Gupta
7. The group of 18 officers of Chases
Maurya was called :

(A) Amatya
(B) Rajjuk
(C) Mantriparishad
(D) ~ Tirtha
Which is a central problem of an economy 2
(A) Allocation of resources
(B) Optimum utilisation of resources
(C) Economic developmenl
(D) All of these
A computer system includes :
(A) Hardware
(B) Software
(© Peripheral devices
(D) All of these
IC chips used in computers are made wilh :
(A) Gold : -
(B) Silicon
(C)  Copper
(D) Silver
VX
) W
What is the speed o?ébmputcr measured it ?
(A) Nanoscconds
(B) Kilo seconds
(C)  Gigahertz
(D)  Megabytes
Entomology is the science that studies :

st W affraa anFH

afity oy #are i fren
aYfyma g @ e
& it

P
il

@A) i, i, iil, iv
(B) i, i, v, i
(C) i, iii, ii, 3
57 "*{,;’F{ﬁ iv, i, i, il . .
57, wEE H 3 18 TRl B WE B
Bl AT o1
(A) I
(B) T
(©) Ry
(D) G
58 areforey Wi S G 22
(A) G- ATdeH
(B)o WGEM @1 SAH THN
(@ \aitis e
«(B) T T
597 ) e fireed H Wi TR
(A) EERR
(B)  Hiveam
(C)  uRdE sy
P aE

60. HrgER ¥ WIEE €N T IC F e
e ?

(A) 9
«B) 2}
€ R
(D) TR

61. e B Y e Ard e R ?
FRwUg

(A)
1) e davs
(C)

(B)  FEEE
62. e fgr T8 g € o sraw o €

(A) Behaviour of human beings aqen
A4 e R
¢ origin and history of technical - '
P el ©)  TEd AR deie wal @
(D)  The formation of rocks @ i &
(D)  ¥EEl B TS @l
[Series-D] [CET-BED : 2023]
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120 e s | “l &= ‘¥ 68 ad
e SeCEo | [ ] @) | |
[ [ ar | 69 @
L JC 70 ;a,‘-i
A -
7l A
5 7| o
. “} r
63.  Most highly intelligent m, 73| B
(A) Whales T Mammaly yr | PO e T 8 4 @
(B) Dolphins .2 B S 78] CF
() Elephants ) Zifes =
(D) Kangaroo AB) %mrﬂ
() :
64. When a bottle of soda : P
carbon dioxide escapes, ;?Ell;ci‘;gopt?cd, 64 iﬁl sgrae & @ e dren el g
This is due to : & hizz, o T R
(A) g ;;i’c?caae in solubilit i SEATES frara el &, Rred o6
se in s Y on decre, At &) gIw o R
temperature BSIng ) g bl 44
(B) Decrease in solubilit e T TR g A Gl
£ ¥ on increasing (A) i
il Empcmtu.ru B e (B) ge T W Herrdier | Bl
CCrease 1o somubi |t:,r o e A g %
sl 0 decreaging © e T W BEREIERI ﬁ
(D) Decrease in solubility on im:reasing (D) 3‘3_3‘ T T Yo i

pressure
65. The three levels of biediversity are -

65, maﬁuﬁﬂ‘?’cﬁﬁwﬁz

(A) Genetic, species and biome i)
(B) Molecular, species and biome (A) Wﬁﬁ gﬁﬁm AR E:F?I"'-I
(C)  Genetic, population and ccosystem | va, wofedt st _
(D)  Genetic, specics and ccosysiem © S, e R aiRieie u
b (D) Gﬁ'ﬂﬂ'ﬂﬁ e iR Wi oA
66. Whu.ch is/are the abiolic components of ap 66. TiRdA B aplad o, DI %/z !
ecosystemn 7 fﬂ'@‘
(A) Soil (A)
(B) Prolein (B) Y
(C) Carbon © -ﬂd-,-_' X
(D) All of the above o) g T :
67. Which of the following organism breathes  67. fiw if & FMeal Wg a1 & A Fa W
from skin ? ) 78
(A) Snake 54
(B) Earthworm S ey
(C)  Monkey (C) ;‘H
(D) Humans ) -
68. Glycolysis process occurs in which part of _ 68 ﬁﬁtﬁﬁﬁ‘ﬂl’ﬁ o e @ T A #
the cell ? e e ?
(A)  Cytoplasm (A)  EIEeren
(B) Nucleus (B) )
(C) Mitochondria (£) BT
(D) Chleroplast \ (D) ; e
e . g 7 e P T :
69.  Inamoeba food is digested inh : £ 69 g 5
(A)  Food vacuole _%}/ T 5
(B)  Mitochondrig — 3 {C) msa‘ms:{@ulﬁ
(C)  Pseudopodia = € wRafEm y
(D) Chloroplast o (D) Eﬁl@ﬁiﬂﬁiﬁ e oo 2oon
70. Who among the following is the invention® afesR 8 7
J Bose ? {A) Wﬁ
(A) Electron: s it L Prs -
(B) wavelength th "
i radiation ©) difes fafaw =
@i dio waves e Y T
(p) Ul short radi D) I b
¢ ___———"""—__—— P TR0 -
g s

: [CET-BED: 2023)
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R ’ | peTTY? f““
( —— — o
Lt "ﬁ.:'. "ﬁ‘uﬂn
D Ehect T
o &
Tich -;l‘-'u.'(lr.-r'-'f“"”rr‘
Wihach LY - r 4
£ heat and clectricity
4 seials
. Non- netals
i) (ascs
(D)  Noacollhe
lare
nits of P
¥ Which law describes the
" ground the sun ?

Newton's [aw

(A) ; :
(B)  Faraday’s law
(C)  Kepler's law
(D) Kirchoff's [aw

Which of the following conditions 1S most

i favourable for converting a gas into a liquid?
(A) Iigh pressure, low temperature
B Low pressure, low temperature
(0 Low pressure, high temperature
(D)  High pressure, high temperatuge

75. Which of the following i néf™a truc

amphibian animal 7
(A)  Tortoisc
(B) Frog
(©)  Toad
(D) Salamander
76, t{grgeofwugfx; of Internet, what js the full
(A) User Requested Link
(B) Ultimate Response Location
(C)  Unigue Request Locator
(D)  Uniform Resource Locator
77. Who is known as the father of Bjye

78,

(B)

Revolution in India 7
Verghese Kyri
(B) Sam Pitroc!amllcn
() Hiralaj C‘haudhary
D) Ms. Swaminathap
Who was the irst Chi : .
*) E tel Justice of Indja 7

74,

76.

77.

T.ormsvyy SEorT

o r S W

;
an B sPena

158 gaw 3 g S ¥ 90 T T
B R 7

(A) e

"H.' i —&Td

(B9 PUie 3 o=
<) DAY & fam
(ON,, 5= = o=
o T 2 - = B £
il T T ;"-—T;_f"-:?-'#_-:'j_:‘—r—:—_,?
5 T s IS
O o= S 0. e
W D w0 9Ny s 2
(A O 89 $H g L
——
(B) D TE[G. T BIFC
(C) oF 98 9= T

9 TG 9 =one
9o T & ?
(A) g
(B) Tgm
© <=
(_D] IITHG

©)  IFT 3% T
D)  From R e
mﬁﬁaﬁﬁﬁfaﬂmﬁmmﬁ

(A),, .. Fiffs
(B) ®RIw

©) eRe=

@)  ToTH W

NG S PR e e o g 2
(A) TR0 TR

(B) RE= %o w
(C) TP wWer

(D) AW 93 7Ea

[CET-BED : 2023]




[ %] (A G
AR 66
. 8 DO ;R
I| | 44 ;5 -."-.“l i _ e
II 45 | [A) _ i'.'fl 70
“ HOEs b |
7\ SO0 :; -
0 73 i
0 74 [
79.  *Konkan Naval g : 75 | 0
between which twiy ;::.Ir“"‘f“ is COndyg o HAPRE 3T AR &) Al B fn s ..
(A) India — gy,0) intrieq e S R S| Q¥ % WY - Signeture of
(B) India — ﬁr.'r ‘lE_ adesh fipm e | ] ;
(C) India Uuil;;::m}! (A) WE = N
(D) Indig — China I"'“E‘.duu: (B) 1I'I'x'.l'l - ’»“ti;l:‘! .
e ey
2 in whie g e ;
(A) m?::é;i\;;ll-l;l.lﬁlmc 7o et g e R Ten A e o
) Odihy afepfos I8 8 7
(o)} Manipur () IR G
(D) Assam (B) mmiin
81. Who i e
Govimma 1 1% 9 1 book Feapy, @ .
(A) V. Narayanasamy | LI W TS 3 T P ?
(B) Swali Chaturvedj (A) o W
(C)  P. Chidambaram ®) T g 4
(D) Kiran Bedi ¢y Mo fedam o
82.  Which actor’s autobiography ;¢ . (D) fasrur 44 ;
*Khullam Khulla® ? © tlled g o ) ST g, W g
(A) Ranbir Kapoor e’ \
(B) Raj Kapoor (A)  HER Y :
(C) Rishi Kapoor (B) IR
(D)  Rajiv Kapoor () =R
83.  The Jnanpith Award is given f (D)  WEgaT
in which of the following fields 7 . ° ST SRR P ¥ & v &7  sepr
(A) Medicine o forg et o & ?
(B)  Social Work N - :
(C) Literature (BYY, WIS w1
(D) Cinema —fg)) Eﬂ?;”
Jahangir Khan is famous in which sport ? 84. Eﬂg‘h‘m Lrn Rodesivfegi? 7
(A)  Squash : (A) W
(B)  Boxing s B) e :
(D) Hockey » (D) e
Which of the following Jgtegnational Tennis 85,  fmiferfam & 9 aiv-w e ofw gl
Tournaments is held on'grass cow,? TR e T e fo v @ 7
(A)  French Open { p (A) % s
(B)  U.S.Open & (B)  TotEo ¥ _
(C)  Australian Openve™ 1~ ()  igfoma A )
(D)  Wimbledon (D) fmssA it ,I/\D""
: : ?
What is the causal agent of Chikungunya ? ~ 86. mﬂ A
_Chlorophyllous batterium —aeidifo W
(A) Non phy _ B) Piee
(B) Nematode (B)
Virus (C) = S hs
gg; Fllﬂg“s (D] L EEE fl .
. functional unit of Kidney is : §7. fslivi w0 -
87.  The basic funct! (A) & @ W %, T
(A)  Henle’s loop \ﬁé) St s w0
cphron ! ==
pli (€ -l
() fwfe
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— L ;r-Jrh:nu';i ns
ks W 1\--1-' th : !lu.\ 3
g Sadbhavana L
I“‘ '.\'-' li'f'-Htl'I."l‘-
(i !
(o
[} oken
¢« oldest mmong I_hc-.q s
IN .lr:'-ungm of South India It
any

o
None of thes literary

(A) Kannada

(B) Malayalam

(c) Telugu

(D) Tamil Langunge

W v (N HI-'CJ
A Non-Banking Financial Company

o0 - the ==
. H ——
is & company registered unde

4
(A) RBI Act, 193

(B) Company Act, 1956

(©)  NBIFCAct, 1956 ?
(D) Government Securities chulahon‘

1913

?l.  Who was the first Indian to receive Nobe]
Prize in literature 7

(A) Mother Tercsa

(B) C.V. Raman
(C) Rabindra Natp, Tagore
(D) Sarojini Najdy,

92, Which institution released the report tijaq
“Tobaceg : Pojsuning Our Planeg 2
(A)  NITI Ayog

) World Health Organisation
(&) UNICEF \
(D) Ministry of Health “apg f il
Welfare o
93.  Whe among (he f‘o”owing is the Governor or
Bihar ?
(A)  Shiv Pratap Shyk|a
(B) Phagy Chauhan
(C) S0 Gavaj
(D) Rajendra Vishwanath Arlekar

#4. Who propoungeg syste

M analysis 4 9
David Eastop PProach

(B) Gabriel Almond
(C) Robert Dap;
(D) Catlin

95.  Which God came to ocCupy the
Ll . sl!
Position in the Later Vedic Period 9 Preme

(A) Indra

(B)  Agni

(C) Prajapati

(D) Pushan
[Series-D]

Y

90,

91,

92.

93

ot
D) g
W

20 e @) fm w9 % wargy e 4

(A) ) faay
() e ey
(C) et 2

(D) M A o ol
T T A e o it
LI P gt & 7 .
(A) L 14
(B) HAqTew
© &
(D) ﬂf"l?'r Hrar
& - A ekl {Eig'r‘?”"#‘-ﬂ "
h__xa;mmawmgl
(A IRofsm R, 1904
B) P U9E, 1956
) om0t 3R 1955
2 2T SR A, 101,
m TR TrTy ord T B Ty -
?
(A) S 7ay o
(B Hiodio 7oy
) Mimrmy 2
% W T
SR 3 2091 : <y s :
W RO oy o1 ? e
(A) Hif g7
(B) v vy wpes
(C)
(D) W sk qfew T ey

R 4 3 717 R & s 1

(A) R gy yey
(B) vy g
(C)" amotww 7o

(R)1s0 o gy oty

wwwwmw
(A) . 3% ew

B) Mg e

(C) ' e gy

D)  Pefem
‘u’ﬂ?ﬁﬁmmﬁmﬁﬁmﬁmm
YT 17 gy 2

{A) g

B) gfy

(C)

tPagu- 14]
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T(‘ﬂch‘
ng t )
(A nb«ioam'“g process is a journey from:
(B) :{Om:r(t_k. Lo abstract
now
(©) W o unknow

Si
(D) Ap "¢t complex
[ ~ .

04, [‘:ffcciwcncss

Tk of teaching has to be Judged in
:g)} :yilabns Coverage
{Cj thCnIS. intcrest :
Use of teaching aids In  the
classroom
(D) Learning outcomes of students

10s. Leamning may be :
(A) Formal
(B) Informal
(C) Formal & Informal
(D) None of the above

106. The main task of educational computer is :
(A) Preservation of data
(B) Scoring the answer
(C) Analysis of data
(D) All of the above

107. In which approach of team building, leader
forms an artificial team where members
interact, discuss and Iearn. from other
member behaviours :

(A) Team roles approach
(B) Simulation approach
(C) Action research approach
(D) Role negotiation approach

108. In what sense teacher provide mentor

leadership ? .
(A) {Je uses his mental capacities
teaching.

(B) He imparts knowledge to students

(C) He imparts life skills to students :
(D) He influences his learner with his
own mental attitude, knowledge

skill and character

SeriesD]

10
3. ?i&:"l--ﬂlf:::u ufdbay U urn &
O ¥ iy
B) W s
B W G ey
- NI . i
+ Rusgor ) wrdteren ® R diad ¥
ST iRy
(A) e sarm
(B) ®mfRa
©  wam W e wemw wh &1
EARILECAES
42y uEl @ @ @ gRiea
105, ¥ & v §
(A)  drERs
(B) (’Fﬁq?ﬂﬁfﬁ
ey IRl Syt
D) A B W
106, 8T ey @l 5@ F7 £ -
(A) L@ W
(B) (" JETRAD T
(€ \,3¢ =1 faze
e (®), TR wh

10, 2w frim & fra w3 40 @

SO &M I & TRl TR 3 el §
gER A TAET TG ¢, 991 B &, AN
W €
(a) W e g/ ST
(B) aﬂﬁﬂﬁm'{m‘”
fTerd SRdT giReI
@ e gRew
108, forere Py e 3 ORTHETRTE AR HET Al
87
A) W B 3 fou o ek
() & O @ 1 5 8
) ag WA B e e T WA
]
5 wmwwmmﬁw

qfkﬁ"l,ﬁlﬁmsﬁqﬂﬁaﬂ

| mafa e &
A TS P 4T
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109, Who was the
medal in Ol

(A) Mil
(B) Kat
i P.T
() Kl

110 . Which of t

financial s

the Reserv
(A) Ce
(B) M
(C) St
(D) Al

(A) Se
(B S
D S

112. Consider

Vi
Select ¢
(A)
B)
)
(D)

113. Whal
Stag
cusri
(A)

(B)
(©
(D)

.———:-""-'-
[Sen



N T | T | a7
bl B o ||
| | .”" [ ™ ‘ 72 -_: | i |
‘ 24| (NPT b o - 4T (1%9)
I' |?5 | ' 44 . g (‘- L. 4 [ 2
d O] I f e < |
| : LA 75| (WESE ir L
Slgnalure of the Candigay . = rﬂ"'# il l_I |
. s'ﬂm!und‘*'_.'!"" g |I II
|
109, Who was the firse lndmn 5
medal in U.-[‘\ Mpics Win gy, i"‘“"fthm
{{.?}} E].I]kh“ Singh 9. s § afia we Ao ad e
(©) g ‘_]L_:'“Eih.ll h'f:‘lticsllwqr,‘ Hrvefra I & 7
BT (D) KD ;;dl:.w (A) P fie
; (B) @i Woorvad)
(€ oo Fwr
110. Which of - :
. ﬁn;;:cli :[i the following is/are linked wig, | @)  wodo e
“al sector of Ing; the
r the Reserve Bank ot'lzn:{?:;:;;?m“m b 0. Py & & - /% awm & fada
fg) C‘mmnﬁcm] Bank ' _ L 3 {‘1\5[ ] 2 e_.ﬁr{ iy Y iE
(B) * Money lenders (Hﬁnfﬂo:ms_n} W e R wm #7
1) Stock exchange Operationg 8y s
D) All of the above (B) WREFR
() WP v duE
s ; (D)  SWE I
H1. Being the seience of wisdom, Philosopby 111w g 93 3 S o e
aims at : + 8 [9E 8 CaE o) B
(A)  Search for activity (&) RREES ag
(B) Search of reality (B)  aiada o1 @
((E:.: Searc? of probability (©) . T
> £ utili
112 . (D) Sy ol &
. Consider the following statement ro :
cgarding 112 : ENiky
the foundational pillars in NEP 2020 - . : '\ﬁ’ﬂﬂmﬁ ﬁﬂ 220 ¥ T W@ W 3
i, Accessibility A Horl 92 R
i, Affordability i s
iii. Accountability ; ii. e
iv.  Quality i,  SIAERE
v, Equity e LLER
Vi, Access i A
Select correct answer giveneode below : o
CA) i il dvony _:’ij 57 A e
(B) i, i, iii oly RIS WA N
(€) i, i, dii, W, v (A) el i, i, v
(D) i, i, 1ii, iv, . vi (B) e i, i, it
© i, i, ifi, iv, v

) 1, i, iii, iv, v, vi

113. What are the classes which cover at "Middle  113. vHogodlo & 7§ wreTEa WRa @ SR

Stage” according 10 NEP 2020 new R e e - 59
curricular structure ? ow S e
(A) Class 11 to 12 B wwdo

(B) Class 06 to 03 P

() Class09t0 12

D
(D)  Class 06 to 09 (D) &I 06 W 09

e —
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SNAERET LT IR @ Dvpe of
) Eacovery method
1) Discussion method
<y Lecture method
) Pemonstration method

(1

s Why is teacher training nevessary 7

(A Increase teaching skill
(B Understand  mcthods  of school
argamsation
(C) Upgrade knowledge of content
() All of the above

116. The four main divisions of pbl!USl‘!ph}, are
metaphysics, epistemology, axiology and
(A) Bioethics

(B) Logic
(C) Aesthetics
(D) Categorical logic
117. Emotions and cognition are LT each
other, e >

(A) Completely separate from
(B) Independent of
(C) Inter-woven with
(D) Not related to
I18. Problem of wastage and stagnation s
primarily related to which leyel ‘of
cducation?
(A) Secondary level
(B) Primary level
(C) Special education
(D)  Higher secondary level
119. means something that can be used
to help actii an aim.
(A) Replacement
(B) Resource
(C) Source
(D) Foundation

120. ‘Rule of law’ is important because :
(A) Tt helps in the control of
administration
(B) It provides protection
() It lays down rule and regulation

L. R’ g W 9 8
(A) fawrad
(D) aal faf
(cy = fay
(D)  waeE Al
115, fers uftreror #0f smaeas & 7
(A)  Rmw #he Rele 59 ¥
®) e Wren & adwt 5 A

T3
(C) fa—sm 1 feim GeY &
y  Sudd o
116, o3 @ am & R e
Hmiar, wad Rifg R s %1 ‘?_'T
(A) S T

(B) P
© d=dvre
(D)  ffgg o
T R SR S e e g
Ay, Regat aram

(B) ¥G3
S B W g
Dy 2 kT 8
118, Wmmﬂﬁmﬂmm%
e & 5w wR § wiRg 22
(A)  wafie wR
(B TRfE W
(©) fafdre Ay
(D) = TR W
119, @1 Heierd G Ge @ e S
fait cew @ o &R ¥ W @ fo
W1 HET B
(A) m%m‘m
(B) WA
() ®d
()

120. 1 e ARyl & i
:ﬂ? T I 3 PR H e

WerH &Y &
B Wﬁmaﬁ?ﬁﬁwﬁa’fﬁaw?

\}/mm

Above all _ A
(D} vea LA [Pas-g- IS]
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